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1. Determine the place value of the digit 5 in the whole number. X @ ‘: ‘:;/
g
805 e
A 7

Choaose the correct answer below.

O Hundreds Oﬂ(/" p) i
) Ones

) Tens

() Thousands

Answer: Ones

2. Determine the place value of the digit 7 in the whole number 7025. 7 @ z 'g_

Choose the correct answer below.

O tens
(O hundreds
{0 thousands

) ones

Answer: thousands

- D -

3. Wirite the whole number in expanded form. q 5 7 O~

9570

9570-|-‘] (Type your answer using plus S,EL?‘C/OO() ) T r(/ UJ) T 700) + O(\) -
7 000 7o T 70

Fannd
Answer: 9000 + 500+ 70
Lr:&/
I e T — — 2
—— e =:
4,

The table shows the number of calories burned during 30 Activity @ 120 b

minutes of exercise and how the number of calories barned Woderate jogging/>28 342

varies according to the weight of the person doing the Moderate walking /100 120

exercise. For a person weighing 100 pounds, how many . 124 1
calaries will be burned during 30 minutes of Maderate cycling 49

__QL ,
moderate jogging? ) Aerobic dance 182 218
Racquethall 194 233

Tennis 143 172
| calories i} R ~ e
275 Culyr s

Answer: 285

/}'f‘f"-[,{c Lj/‘/"’)

e —_— &,
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The table shows the number of calories burned during 30
minutes of exercise and how the number of calories burned
varies according to the weight of El_liggrson doing the

exercise. Fo

For a persemweigh
burns thw

[ i{:\ﬁ’ 150 pgunds, which activity

Choose the correct answer below

O A.
O B.
Oc.
OD.
OE
OF

Answer: C. Moderate walking

o e

6.

Racquetball
Moderate jogging
Moderate walking
Aerobic dance
Tennis

Mederate cycling

https://xlitemprod.pearsoncmg.com/api/v 1 iprint/ms

The table shows the five longest rivers in the world.

Use the table to determine which river is the longest in the

world.

Which river is the longest in the world?

OO0

Tenisei-Angara
Mississippi-Missouri

Chang jiang-Yangtze
Amazon

Answer: Nile

/{//'/¢<"- (‘f/ 7y

Activity 110 b (150 It )

. - LAl 0//‘//
‘Moderate jogging 311 425 fars
_Moderate walking 110 (150 ‘é—péw o5 caloris,
Moderate cycling 134 183
Aerobic dance 193 263
Racquetball 218 297
Tennis 163 222

.-"'/fa 6’: K)f s
[t’_ Woes | e
Jlrodizile o= feiy
River Miles
Chang jiang-Yangtze (China) 3964
mazon (Brazil) 4000
enisei-Angara (Russia) 3442
Mississippi-Missouri (U.S.) 3740 | _~ .
| <
= Iy, sest
h ———______‘_H‘- i

-

(a :‘.,)(},L— ra :/('{ WJ/L(

=2
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7.

The table shows the top ten popular breeds of dogs. Use the

htips://xlitemprod.pearsoncmg.com/api/v1/print/ma

Top Ten Popular Breeds of Dogs

table to answer the following question. _ Average
P Dog Average Dog
Which breed has a greater average weight, t Boyér the Breed Maximum | Maximum
/Labrador retriever? Height | . Weight
| /re s {in pounds})
I kgf\ {in inches}
rador
. 7 A
The (1) has a greater average weight. Lﬂuﬂﬂj 23 @ ‘éﬁ* ¥
I GErman 26 g5 &v(fb}L
shepherd l:—‘r
Golden 1
retriever 24 . W
Beagle 15 30
Bulldog 26 80
YOI'!(ShII’e 9 7
terrier
Boxer 25 (70 ) | —
Poodle standard: 26| stantard: 70
Rottweiler 26 none given
Dachshund 9

{1) O Labrador retriever
() Boxer
Gt ebar

Answer: (1) Labrador retriever

é&\bf“—c’id r_(')c'rl{(/(
a,vx/)/( lr @

-

A

25
N D

Add.
14 + 83

The sum is .

Answer: 97

e

53

+ 17

Jof41

Add.

81
+ 316

81
+316

1

Answer: 397

2/15/2019, 9:26 AM
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10. Add.
14
22
+

Answer:; 67

11.  Subtract. Check by adding.

549
- 449

The difference is :

Answer; 100

https://xlitemprod.pearsonecmg.com/apifv | print/ma

_‘_‘_-_-_‘_‘_‘_‘—\—\.

12. Subtract.

66
- 38

The difference is I ]

Answer: 28

13. Subtract Check by adding)

733
- 3587

The difference is :}

14, Subtract.

900
~ 316

The difference is :’

Answer: 584

4 ofdl

2/15/2019. 9:26 AM
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15. Subtract. Check by adding.

442
- 36

The difference is [ .

Answer: 406

16. Subtract.

85-77

The answer is :]

Answer: 8
‘:_.__—______"_‘_‘_'

17 Find the perimeter of the figure.

p:ﬂ#/ﬂ#(_ 10feet @ i—?‘: @
>]
The perimeter is feet, ﬂ = 6 7 c’* /o
= (577>
3 Answer: 2: @%
18, ‘ =0 [Pz NL~2 0w
Find the perimeter of the figure. .
Rectangle I fist ﬂ: 2 (Z)’f ) ( [ )
ft 2 feet = Yro
Answer: 6 CZ?__;Q / T 6 /
— o, T e
- - ly \ 25 e
s Find the perimeter of the figure. _p‘ A’fg'fc -rD*é_’-f[ -+ G It_ﬂ_@_ 419 SR
P=1¥1 G+ T 19 1t 1% B R

:cm /’: 2.% 5’(‘ /7 I T(Y I9ccgimclcrs
FM: 3 / - /3 - (..f/’yc B centimeters
- — 9 centimeters

SO A11¢ 1

p - /“f /7/ ﬂ 14 centimeters

11 centimeters E.'

14 centimeters F"

e — e —— e —

Sofd4l 2/15/2019. 9:26 AM
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20. Find the total of 55, 44, 7, 19, and 245. ? (/
The total is
Answer: 370
= ¢, [ s ———
_ , 7 1 Ched .
21. Find the difference of 68 and 39. ¢ | 2 c]
The difference is‘ l ° ’_ji { -+ 3 9
Answer: 29 j‘

e e e T - s ES - i e = .
22. Whatis 645 increased by 837 Y S—N\
73

645 increased by 83 is :’ . — E

Answer: 728 _ﬂ__-——f""ﬁ/
23. A new notebook computer with DVD player costs $1423. Derik Muller has $1499 in his checking account. How much will
be left in his checking account after he buys the notebook computer? /45-
b 8
Derik will have $: remaining in his checking account a_ftlfr e.buys the-notebook computer. / ¥4 g
- fe /2 ;\
sl )

Answer: 76

e
£

RN
ol

Area (in thousands of square miles) }
|

24. Find the total land area drained by the C alnd D sub-basins,

Pfigoo
3 00w
A+ 1o %

000
261,

500 w
520.000

246,0%-8 s000) /
3000 H 40,000

E—T £ r

Answer: 261,000

= e o

=

=
©
I‘\l_
Y
hY
G
-

Gofdl 2/153/2019. 9:26 AM
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25, How many more square miles of land is dram_ed bg the A A J River Basin
sub-basin than the B sub-basin? 5 E
$/oeon T
= )
e S2isee. 4 T
Vit 245,000 /.

é 189000 162,000

I l 73,000 | |

000
L [mm] L 31—-.00_0_
(o] [#] [ F

| sq mi

Answer: 265,000

] 5 T
2. ' 76
Alexander is installing a pen for his dog. The pen will have 106 ftet ~t/v 06
the shape and dimensions of the figure shown to the right. oL
How many feet of fencing are needed to enclose the the T
area shown? ,@...A_.f g,f-(_-f D Y] 119 feet < 2 / z
- 2
PrG6+/o6+Nir+7, A —+ 1 3
7__ o
P~ 20C +(19+7 L et ny 220

Answer: 393 %5: 273 :,j %

— ' 2

27. Evelyn Abrams is reading a 775-page book. If she has just finished reading page 279 how man 'Erﬁaﬁeii;nust—shaﬂ_
read to finish the book? { s # !

| Ipages

Ans;rver: 496

28. What is the dB rating for live rock music? Decibel Levels for Common Sounds

mzj]L
— 89

14

Dacibals (dB)

e Rock
husic

Loud
noringTelevision

0 i
Leaves  HNormmal
Rustling Conversalio

e U= —— LAk — = — S —

—

Answer: 102

Tof 4l 2/15/2019.9:26 AN
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29. How much louder is the sound of snoring than Decibel Levels for Commuon Sounds
normal conversation? 7 [ _ 2‘:
P g 1204 104 =
,g S - 100 J/ 85 J :
K 80 1
J VJ/ — 29 F 60- '
\OX ——; j 404 2\)
60‘ (% 204 10 @
v/ P |

eaves otiha ou __"___'Th_-n..._HT
RLuslIing@ersa' \ L'ﬁuzzm{ll’)}l‘ehﬁ Ch{_, e .\\
55 \
dB
] 7 T

Answer: 56 : | ; 6.,)\‘,0[

p——— 1
-y —

i —— = —= —— i /
30. A permanent game board is made of granite. It is in the shape of a@are)ﬁ‘lh side lengths of 42 ft. Find the perimeter of

the square playing board. u{’LD v L P Z/J\ S = L S
The perimeter is ]feet. 2 P C(( & 2) 4/ 4

Answet: 168 Q / 5\%5 %

31.

The table on the right shows the number of a particular [ State Number of Stores
store in ten states. What is the total number of stores Arizona ¢ 185 ) Sﬁ:"‘" { b’ «
located in the three states with the most stores? California =
/ Florida
A total of : stores are located in the three Georgia ( 141D &S—fmeee / ¢ /
states with the most stores. / X5 ' inois 78
/9' / New York 50
Michigan 70

—F 4 Minnesota 60

— Ohio Ba ) e 8 Y

: Texas 38 t——-—-——

Answer. 410
\H"‘“———.-q__n—.._...'—'—f____':_ il S A — 7
7 )

= =
32. A partlcular state has 2046 mules of urban highways an(i&@nilés of rural highways. Find thig way mileage in %
( 'the stale,- e
. 207 ¢
The total highway mileage in the state is , miles, "TL 3 7 2 7

Answer: 5875 == 5 — 277 i;:%<}

33. Round 2,859 to the nearest hundred. 2 27 ”‘"‘?

The number 2,859 rounded to the nearest hundred is :’ r Srag ¢ 2

rz’w\g( u\_‘ﬂ

Answer: 2,900 ._ - i @ i

Boldl 2/15/2019.9:26 AM
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34. Round 41,337 to the nearest thousand.

41,337 rounded to the nearest thousand is | ]

Answer: 41,000

e P,

ro

“itps:7/xlitemprod pearsoncmg.com/apifv tprint/m

%/B37 =
sina 3L §
ot ru-d we

/0 00

ol . —-“—-—*—"ﬂ

I AL

=T NS = — -—"—"—-—‘u"-ﬁ Skl
he perimeter of the_rectangle by first 67 melars — @ YiCeros £~
g the length of each side to the nearest

Rectangle

The estimated perimeter is : meters.
Answer: 160 é’/(%/m (.o(*( A}

== =TI _£1oF
36. R e
Multiply.

- el s
) Cetmr el >3
z

316
x 4

Answer; 1264

P,
L? |

L 2w | 70 N
P=Z(70) + (10 ;(/4{1‘)?/" ( 29

3>c,-

=y

(4

gz / 'ro;—;:__?:d // (A ",

i -o—\ T
--‘\__.---"'x T

316
X 4

37. Muitiply.

99
= 66

—_—

The product is ‘———l

Answer; 6534

e ———

H“‘_'—'___'_'__._—‘_‘_‘_‘_H‘-'—'————-—-—__

9of4]
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The area of the rectangle is : (1)

https://xlitemprod-pear

Find th@ and lhe of the rectangle shown to the right.

The perimeter of the rectangle is |:] (2)

7 meters

Wr-“api#’v liprint/ma
- - ‘/':
L=7

| 5 meters

(1) O cubic meters. (2) O square meters. / d/
) meters, O meters. T—,Z A f‘/“) _
() square meters. O cubic meters. P V4 (7') —+ 2 ( ) "E;-;;
Answers 35 P - / 7‘7'/J '
(1) square meters.
24
(2) meters.
- — 1 3 o
L) [ &%
39. One triple fudge brownie contains 139 calories. How many calories are in 3 triple fudge brownies? / 2 ?
{ > X 3
A2

calories i-3—‘ii— = 717

/cu) G !’mrs) (rqu el

417

e S — a——f—"‘f". ——

40. The textbook for a course in biology costs $95. There are 2B students in the class. Find the total cost of the biology books

for the class. /

The total cost is $:. 7 5

l(w)<Gs(en Crvss 7ebhi,

| Answer:. 2,6.6(-1- ” ; @W

41. A plot of land measures 70 feet by 140 feet. Find |tCea. \

The area of the rectangle is I M A‘ 461/

(1) O cubic feet.

) feet,
O :qutare feet. AF- ? ? N

Answers 9,800

{1) square feet.

10 of 41

@)

G5

LAy

{

76 O

\b

2/15/2019, 9:26 AM
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/
42. One ounce of nuts contains 196 calories. How many calories are in 13 ounces of nuts? ? }G
L - 73 X_ 2
calories /9¢ T a ( f“ 7 I/
T i = sseny crss n«»tw 15 ¢

Answer: 2548 /V___. 2 yg Q‘_s-_&_{__z:«&

e ———

43. The Thespian club at a local commimit T-Shirt | Number of | Cost | Costper

ordering T-shirts. T-shirts size S, M, or L cost $12 each Size Shirts per Size

and T-shirts size KL or XXL cost $15 each. ch. Use.the table Ordered Shirt | Ordered
on the right to find the Total cost.

he first row is filled in S 2 $12 $24
for you)y - / M 3
L

4
XL 10
XXL 2
\ Total Cost
T-8Shirt | Number of | Cost per Shirt | Cost per Size (TU—‘“'(
Size Shirts Ordered 2 g{
Ordered /
s 2 512 217 7 36
M 3 8 /7 s__36 G 7 o
! [ i / c-‘\_? =3 \.
L 4 . w ML | < 3 \
wl w BF WAor bR s e /L
XXL 2 5 ;s — Bl —% { 1/0
Total Cost$ |'
Answers 12
36
12
48
15
150
15
30
288

44. A plant for a tea company has bagging machines capable of bagging 3000 bags of tea per minute, If the plant runs 19

hours a day, how many tea bags are produced in one day? Cha _J_U
(3000) (/5 hrs)— 2
The company produces tea bags in one day of operatlon L] 1’
——
7 g MB (19%6°0= o7
Answer: 3,420,000 X 62 [/
T = X 3vuw
— = D.L? ; bl e
o oaa
w(/— - 00 00
[ ¢V : /C;/ 0 0o Y
I P 34 L0

3 \.‘/Z_OO U3
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45. Divide the following and then check by multiplying.

5)385
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 25
il 25
O A. The quotient does not have a remainder. The quotient is ; ,(3—)
O B. The quotient has a remainder not equal to 0. The quotient is R 0 / v

O €. The quotient is undefined.

Answer: A. The quotient does not have a remainder. The quotientis| 77 .

—'—-—-_.___

46. Divide the following and then check by multiplying.

7, 1566

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. {6

; — (/1)

O A, The quotient does not have a remainder. The quotient is 26
O B. The quotient has a remainder not equal to 0. The quotient is R — ( 2 l) l////
. / = N
(O €. The quotient is undefined. // £ re 2
Answer: B. The quotient has a remainder not equal to 0. The quotientis| 223 |R| 5 L
T ROy, 0y
47. For their wedding, Ben and Jen paid $11 for each guest's dinner. The total bill was $2090. How ma id they
have at their wedding? E a/

—T

Answer: 180

—_— R . e — _Lal—

48. A truck hauls wheat to a storage granary. It carries a total of 5,616 bushels of wheat in 12 trip
haul each trip if each trip it hauls the same amount? Py

{2
The truck hauls bushels each trip. - A 29,

Answer: 468 7 v )

49. Suppose the elevation of a peak on a certain planet, 45 31 680 feet. A mile is 5280 feet. How many miles fa

Thepeakis|  |miles tall S e 9“2 0 37C 25
- X 216 79)
Answer. 6 3 ( 6 ? 0 '( 6 7

I S, . A i ST

120f4] 2E5/2019. 9:26 AN
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50. Find the average value of the following list of numbers,.————— 2 /

]

' I
20,21,17, 27,16, 19 2o ,/1/ 7
The average value is ;

Answer: 20

51. Evaluate.

Answer: 2585
32. Simplify. ) e
40+7-6

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

FOF706 <

O A 40+7+6=

() B. The expressmn is undefined.

Answer: A. 40+7-6=
—'—'_'_'_'_._._-_._._.._-“_-_-_"—‘—-_._._._'__r"_..-n—

53. Simplify.

8+2:4+6

le X = vigh+

Select the correct choice below and, if necessary, fill in the answer box to complete your chaoice.

57‘7')- 9’?"6 -

(JA. B+2¢446=

() B. The expression is undefined. (7‘ o & -6
/676 = ‘/
Answer:A.8+2-4+6=|I} 22 S,
I_'_,_-.._"_' —— e =
54. Simplify.
14+2-1

/e

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A2

O A, 14+2-1=

(O B. The expression is undefined. 7 — / ~

Answer: A. 14+2-1=[ & | CW

M

130741 20152019, 9:26 AM
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55. Simplify. / /) = 2

49+ — e[~ Ao vy #
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

64 4G+ %’Zl

O A, 49+ —a- =
(O B. The expression is undefined. S‘?Fr g =
64 (3_ /=
Answer: A. 49+ —= =

56. Simplify. L-(/# :

1

3-4+5+5 /6 h"‘@A’_&
Select the correct choice below and, if necessary, fill in the answer box to complate oice.
Fey p Sz
O A 3:4+45.5= ) / 7
(U B. The expression is undefined. 75Tz

Answer A.3-4+5:5= 37 | (,—3 7ﬂ\f

S, _——LLs bl i —e
57. Simplify. e
24+8
2822
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. @Fhﬁ
>’
29+7
.-'—‘~] A 24 + 8 _ ___"_————-_.______. —
23 _ 52 2 2 22
() B. The expression is undefined,
[l g
24+8 -
Answer: A, — 2= el o A — 27
27 -2
Ly Y

il

14 0fd] ) 2/15/2019. 9:26 AM
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58. Simplify.
(3+4)-(10-6)
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
(%7y)e (/0—6 J -
(DA (3+4)-(10-8)= -
() B. The expression is undefined. (7) ( (7”) <

e =
Answer. A. (3+4)+(10-6) = 28 (27?:\).%/

e

-

- 3 - .
59. Find the area an@enmetegﬂf the square shown to the right.

13 meters
( 3 - T,
(L =12
'3 T
The area of the square is : (1) W / 3
p2l-rew
The perimeter of the square is {2)

Answers 169

P=2(13) = 2(13)
(1) O meters. (2) O meters.
() square meters. (O square meters. .

(1) square meters. =
52 ,0: & ‘S) < L /f,_/Z Z’@
(2) meters. @ 5 [ E _.\\
60. Evaluate the expression forx=5and z=3. 2 {-Z; "‘3( = kﬂf = ‘D/{‘/‘/
2(5X(3) —2(5) = Sursr

s 2(Is) —2¢5) =

30 — /(5=

Answer: 15 G, \\%/
[w
61. Evaluate the expre;sion for;=2 and y=6, o | BE?WJ?
A Bl R e
y-8 X '
X
3(6)'_‘7 - SML’S}-.
3y-8 i
o — 2)
| (9—=7 -
Answer: 5 2_
=== — - = / z P —
L a

ISefar—w0H 2/15/2019. 9:26 AM
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62. Evaluate the expression forx=22,y=2 and z=4. =

X+ 3y st
z (2 ¢/+}/z) = svk
(%
X+ 3y _ 2
z  — 22 —7' 6 - @
Answer: 7
63. Evaluate the algebraic expression for the given value. )( _ 2. )( + f é"- im 1}4

x2-2x+8, forx=5

: ()=t (c)—+7 < Sebsr,
When x=5, x —2x+8=l i (SPJ/T)-‘Z,(S‘)—#—();: 2y Iy

(Simplify your answer.) A OV

Answer: 23 /S" . _f ‘///

64, Evaluate the following expression forx=1andy =4,

2x + 6y é’,ﬁﬁi - — - &

2 E L
e — L bl bt 3Ty
2(v) g

Answer: 13

b —— .:L__
65. Simplify, 7_{/(‘&' 7'__{0

8+4-7-10

B+a.7-10=[ ] 260 =

L e 2=

66. Solve. Check your solution, f__ o —mt é); o
X+9=24 /(75 Ty X7 5= — 7
The solution is x = ’ )( — ~ ly— qs_)’f 7 =ty .
E— VAXAR

Answer. 15 ? ’2 C/ — & 1}/

B, i
__‘___-_‘_‘_‘_‘_‘_-_‘_'_'_——-—._

16 of4] 211572019, 9:2
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67. Solve. }/{/ - /2 6 [ 3)( 3 ¢ e ; 3%
- ¢ " -3/
3x= 36 2X }, f =

| 320Y=26 4’

oniax=[ ], g teauasd
The solution is x = :
CXY | secse
e |

ar I8 / R
68. Solve the following equation. 2 X—v <= © exX —0= 0 2
2x=-10=0 Zz)(""//()//-/ Ur/o Z(Q—) —~fa = ujv*]"'lls -
S E— ax o /o7 =0 T
- QO Hﬁ
Answer: 5 )
__‘____——__;_———— — O—‘:L) é{_,—_

U( Sﬁ/?’{"gfﬂ‘rs
“) 3+ = ¢ f_“

69. Solve the equation.

Sn+35=55 > F

Answer: 4
70. Write a fraction to represent the shaded region of the figure. e
f & 2ysy

e W

A fraction which represents the figure is I

Answer: 4
7

17 of 41 2/15/2019.9:26 A
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R g Shdf T

71. Represent the shaded part of the group of circles with

A, an improper fraction and —_— =
B. a mixed number. (7 ¢
- ) (h JL§
R
-
—— —

A. The improper fraction which represents the shaded area of the figure group is
B. The mixed number which represents the shaded area of the figure group is "

o _l Ui (é

72. Represent the shaded part of the group of triangle; ;Niih
A. an improper fraction and / { §/7-’- oAy A

B. a mixed number.

AbS

A. The improper fraction that represents the shaded area of the figure group is :
il a

B. The mixed number that represents the shaded of the figure group is :

Answers 11

The fraction which represents the shaded region is | .

Answer: 11
12

(8 of 41 2152019, 9:26 ANV
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74. Write a fraction to represent the shaded part of the figure.

The fraction representing the shaded part i is |

Answer; 5
8

—

75.
Write a fraction to represent the shaded region of the figure. The fraction that represents the shaded region of this figure

is

% .4/1,/ =7

Answer. 4

g

76. Represent the shaded part of the group of figures with (a) an
improper fraction and (b) a mixed number,

f Shodif

(a) Write the shaded area as an improper fraction. 4

I

{b) Write the shaded area as a mixed number.

I ilcol

Answers 5

190l 41 2/15/2019, 9:26 AN
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77. Represent the shaded part of the group of figures with {a) an D
improper fraction and (b) a mixed number.

a. Write the shaded area as an improper fraction,

b. Write the shaded area as a mixed number.

I

Answers 9
2
p 1
2
- tc// = ————cr e e
78. Write a fraction to represent the shaded part of the syringe. v /4 (
VWb ) Shodu

&LI = : —— -'3""' < M

The fraction represented by the shaded paris is : ' ’3 — Lf
= e
v
Answer. 3
8

79. Write a fraction to represent the shaded part of the distance.

/i
/

1 whole mile

i ] ] | | l t
1 T f 1 {

'Istf'{;;g

The fraction that represents the shaded part is ;

Answer: 3

20 of 41 2/15/2019, 9:26 ANV
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80, st e
Each of the objects shown to the right is divided into equal Choose the correct answer below. HEH"'“‘-——H—._.___
sections and part of each object is shaded. The shaded part
is a fraction of the whole object. O A

1
Which object represents the fraction < ?

7 O B.

() E. None of the above.

Answer:

B1.
Each of the objects shown to the right is divided into equal  Choose the correct answer below.

sections and part of each object is shaded. The shaded part
is a fraction of the whole object. O A.

4
Which object represents the fraction E?

Answer;

Woldl R . empeeewes T 315019.926 AM
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82.

Each of the figures shown {o the right is divided into equal Choose the correct answer below,
sections, and part of each figure is shaded. The shaded part }1 M
is a fraction of the whole figure. - Lo
O A. I %ﬁj?
7 ] i | 8 |
Which figure represents the fraction =7?
7 O B. ﬂ ; :
| 5
" i

() E. None of the above.

Answer: II I! l,
. J
—

S R S S ey et Ry Nt e S = D
83. In an American Sign Language (A.S.L) claszo@ident@re hearing impaired. What fraction of the students

hearing impaired? A
€erin ) ! 2

The fraction of the students that are hearing impaired is . [ /7“‘ 7t
T ———

Answer; 8 C{tS b G’( .
E Stadr b =
— = e I S e e ———

—— S—
84. Graph the fraction on a number line.

3
7
//\ / \; :X;-\
fl

i
0

b
v

-3
*

4
o4
-
28]

Answer:

-
=+
-+

Y

E .

-
[ 1%]

o=
 J

A

(=L o}

ES

=k
LS

Answer;

e
e
¥

:
N
|
|
{

22 of 41 ' 2/15/20109, 9:26 AN
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86. Graph the fraction on a number line.

: y 2 7
' L L—
“ é - ; é >
_ s V1
Answer: ?’ Z’ -y =
"I[r: ] i }r
— ﬂﬂﬁywh
87. Find the prime factorization of the following number. Fimay L Y, 5 Y, 7 1 7 1" <
N S 2
52

The prime factorization of 52 is .
Answer: 52, 45

88. Find the prime factorization of the following number. f i 2 ) 3 y, / 5 S
16 . < L ¢
[r— ?(.—-“' ‘)(
The prime factorization of 16 is |

Answer: o4

-

89. Find the prime factorization of the following number.

//lM L/sj g 7 /
78

AR
- L(7%
| P 7§z 23413 S

The prime factorization of 78 is [———f dﬂ (/"// e 3 (_/?

Answer: 3-2-13

— /3 (/3
B e —— SRR (7?:3 e 3 o 2_" _ /V)/ ’

—— ﬁ-.-—-"_""f - — — - o
80. Perform the indicated operation. 6 L. ___7_ . ?/IW , £ }5J \/)7, ! ', t}"-
e ({~
2
g 6 2 7. e
—_— i e A
7 [ e gl
6+ Tk (Simplify your answer.) 6 ,(J_ j
T = (ot wr 4 (, 2.
Answer: 66 : = \ 6 -
— i I

230l4l

2/15/2019.9:26 AN
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.—-—'—"'_'_F e — -
g L 7. Puiiid.
91. Perform the indicated operation. } '—0" Z =
1 7
3% L, £
>

7.
8" (Type an integer or a simplified fraction.)

Answer: 2
7

T ——

92. 1
Find 7 of 140, &l 5 7 I v

; B _§; ‘ A =
'Z of 140 is l: (Simplify your answer, Type a whole number, frac n, or mixed number.)
., S

Dy
Answer: 35 7__@; 7 CI" /@ (/?0

93.
Find % of 50. Write the answer in simplest form.
= WV I 2% ;
9 q ﬂ - ATy A
-ﬁofso is : {Simplify your answer.) 7:)‘ ¢ - 3 ;? LQ_",’ FLLS'U
3 / O Ly
()05 (/azz/// S
Answer: 45 ) ( j / T
KN s = )(;5 )&/ {
— 7

94. Insert <,>, or = between the pair of nurnbers to form a true s

3.7989 3.8

0.755 0.75500

0.755 0.75500

24 of 41 2/15/2019, 9:26 AM
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96, Round the decimal to the neareC(t/ey 0’ /? %
0.94

&: § 15 Cj L{«é SF
L ot vonA e
0.94 rounded to the nearest tenth is

Answer: 0.9
RS et e et — ST
97. : ) -
Round 0.7131 to the nearest mﬁusw) o713t~ | d ’ 7/ 7} [ S It el
—~ R <

Answer: 0.713 0‘7 /3 bo not oA

: NN wny
98. Round the monetary amount to the nisarest_il/o/ll,a/: ﬁ' & ———
= G0.7
$90.72
Answer: 91

Add the following.
8.2+533

B.2+533= I | (Type an integer or a decimal:

Answer: 13,53

101. Subtract and check the following. : //{( _ 9/
16-3.3 . 3 3
16-3.3= (Type an integer or a decimal.)

Answer: 11.7

25 af 4] 2/15/2019. 9:26 AN
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102. A landscape architect is planning a border fora —s———— 23.55 feet ————>

flower garden shaped like a triangle. The sides \ / / /7 ((7" l3, "@‘ZZ 3’

R

of the garden measure 17 .4 feet, 23.55 feet,

and 22.8 feet. Find the amount of border 17.4 leet 27 8 [ect
material needed. A’ \ /C / 7 yo
23.5%
The amount of border material needed is l feet. "(’ Z L - J} i_.
(Type an integer or a decimal.) 5"
G 3.7
Answer: 63.75 v{/
T e e r——— g
__r,_,_.—-—'—"'_ e

| Y2

Thg bar_graph shows the to_p five chocolate-consuming . The World's Top Chocolate-
nations in the world. Use this graph to answer the following. Consuming Countries /
30

Which country has the greatest chocolate consumption per
person?

25-

Choose the correct answer below.

Pounds of Chocolate per Parson per Year
—
0

) Country D —— 10-

{J Tountry C 5 %
O Country A

(O Country B

Answer: Country E

e
— e ———— . s

?'O.ZTT“tIse-th&xalumj‘_ﬂE coins.given below, Write the value of the group of coins

shown to the right. To do so, it is usually easiest to start with the coin(s) of greatest @
value and end with the coin(s) of least value. C 4
5 ©
)
.

gzg ‘/9 "0r Y]

Penny Nickel Dime Quarter ﬁ’?\ AT
T, X q X-TL’ e 3 "'-\- A

€C 6

001 $005  $010 %025

j A7
n -

o
@
Q
\o/
"T%a
j
%S

™~
<
G
7
&
gw

4
The total value of the group is $ . ¢ L

Answer: 1,30

26 of 41 2/15/2019.9:26 A
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coins can have a value ven that you may use no more than 10
coins.

o,
=

105. Use the values of the cc‘:;?/ the right. Name the different ways that Penanv  Nickel Dime Quarter
$0.1 =

FaT -
(o3l

Jooi  f003 8010 $0.°5

Choose the correct answer below. Select all that apply. /6 r 0 w03
[ i/
AS X D L
%1dimeand1nickel G -f-,a:\ 4,05 ;:r:?\—a_ I—Kl'?-):‘:
1 dime and § pennies «———&” T o b e
: » a ¢ e
] €. 3 nickels and 6 pennies — -
D, 3nickels el S + .0 f

¥E. 2 nickels and 5 pennies é—t/V w :, ff )

[J R 1dime, 2 nickels and 5 pennies

Answer: A. 1 dime and 1 nickel, B. 1 dime and 5 pennies, D. 3 nickels, E. 2 nickels and 5 pennies

T D
T (3¢)

C -
" v
 C~ 3?:(\1\)/

a. Find the circumference of the circle in terms of n. C = 3 ./ Y D

The exact circumference is‘ ft. = 3 /7/ ( 3 ) /(/ (/ /

106 C
Find the circumference of the circle in terms of x. Then use

the approximation 3.14 for © and approximate the
circumference.

i /1

b. Find the circumference of the circle using 3.14 as an approximation for x. C / go 'YZJ 3 /
The approximate circumference is | ft. (Round to the nearest hundredth as needed.) 3 d_
X &
1627 o
Answers 32r ? Z /
.

100.48

107. A 1-ounce serving of cream cheese contains 8.2 grams of saturated fat. How much saturated fat is in é ounces of cream

cheese? ( G V.

_— —

— 7o = o~ x_ 6
g [(A/) ZZ/G) Crus5S wa/{-’ a2

Answer: 49,2 = & q, Z __,J “////

B

108. The screen of a portable digital device is a rectangle that measures 3.5 inches by 2.6 inches. Find the area of the screen.

[ =35 W=2.6

The area is :’ square inches, (Type an integer or a decimal.) o [
X 2.6
__________.—w

Answer: 9.1 3. 5)(2 () 21 0

1 * 21152019, 9:26 AM
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108. A meter is a unit of length approximately equal to 39.37 inches. If someone is 1.85 meters tall, what is his or her
approximate height in inches? 33,3 7
Using the given conversion, someone who is 1,85 meters tall has a height of inches. X - {' 2 "-,
(Type aninteger or adecimal) /. [72/—25 vl g 358
25.37 . 21496
Answer: 72.8345 () = 353 Bs) (iS5 S W’“—@‘(’ 5 g7

B [2.83% DY e )

e TTUTT .
110. One year, farmers received an average of $13.035 per bushel of wheat. How much did a farmer receiv
bushels of wheat? /3,03,

. X A0
The farmer received $:|. {Round to the nearest.uut\as needed.) Y

Qo) 97142
Answer: 1303.50 [ 30759 a2
wer {L | _sfq___ s SR

Perform the indicated operation. -

46+0.03
=) i3 -
46+0.03= | I (Type an integer or a decimal.) e
‘
Yeb3 J
Answer: 4.63 o
112. Find the decimal equivalent of the following fraction. 3 6

14
25
14

St I

Answer: (.56

——

113. Write as an equivalent decimal.

3
4

Blw

L 1

Answer: 0.75

114. 17
Write SE as a decimal.
17 /{ -
R [ 00
\// — (F YV D
Answer: 3.85

v’ - O/K"'\

2Bof4T _ : 2/15/2019,9:26 AV
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115. The pictograph shows last year's fruit production by Annual Fruit Production in Top Producing Reg;_ons _ W
the top fruit-producing regions. Which region 1/Ir‘.",ﬂf/ e e A 3 e =
produced the greatest quantity of fruit? Sl Northern R_’E_EHEQ__ Eé saA A or e 4:"'

Mountain Region
Lake Region

Central Region )
Southern Region

1 =13 million bushels

Coastal Region

Which region produced the greatest quantity of fruit?

() A. The central region
(O €. The coastal region
(O E. The lake region

Answer: F. The northern region

() B. The mountain region
() D. The southern reglon

(E The northern region

\«/f/

116. The pictograph on the right shows the number of acres

devoted to wheat production in the selected states.

Approximate the number of acres of wheat planted i
z, 5
=

T
()./L
2.5

slate D.

The number of acres of wheat planted in state D is approximately l: million acres.

Annuai wheat Acreage in Selected Top States

slate A ? t ’ 'y ’ ] 1
statc B ¥ ¥ ¢ ? ,. , ‘ T ¥ |
state € | _g_ . ‘ ¥ f { l
G@POLFT ¥ 10 ;
state E ’ ’ , [ 4 ! ! |
state I T+ ¢t 9 4 § ‘
' T
state G f ¥ 1 e ———
state H ! 'f _’ .n_nlllon acres /
—_—— = T __,_..d

(Type an integer or a decimal.)

Answer: 5

29 0f 4]

2/15/2019, 9:26 ANV
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117. The pictograph shows last year's fruit production by '
the top fruit-producing regions, Which region
produces about 60 million bushels of fruit?

20

Northern Region
Mountain Region

Annual Fruit Production in Top Producing Regions

o e e e R
y 3

]

x L = | Southern Region )} '
c o W Coastal Region i f,__;:_:'\-.\\ .
— . - ‘_‘\ |
E __..eﬂ 4 S M&'Qﬂ‘ 7 ' ( ¥ = 30 million bushels _ %ﬂ
/’7/ (& Le bu\) ! Central Region ) Bt V5 -
Choose the correct answer below. -
(O A. The central region (O B. The northern region o
(O €. The southern region C/@—D The lake region "
() E. The coastal region (O F. The mountain region
. Answer: D. The lake region
i ————— — W
118, The pictograph on the right shows the average number of T
wildfires in a country between 2006 and 2{012. S ﬁ i*’ ﬂ f\’
2007 '
Approximate the number of wildfires /2 0 0 © | & & Oy
in 2010, 2008 | MY
X b 2009 oy iy

-

2010

2011

2012

o T

The number of wildfires in the year 2010 is approximately [ .

(Type an integer or

Answer: 72,000

| eeesr s

\

5
2 2l

ey =

12,000 tires

edelio fcdedeRed
FHHE
CHHE ST

T —

NS

& decimal.)

T —
119.  The pictograph shows the annual number of wildfires in a region
between 2000 and 2005. What was the amount of increase in
wildfires from 2003 to 20047
5%
L1
My = 12000 fines
The number of wildfires in the region increased by al:l;out | | from 2003 to 2004, § @/;
200 ' — Ge ©
Answer; 18,000 / /o5 < ¢ 7
N T A ey
—a S . é G_a E?,Ej e : S - —
[ 29099 / @ f D
7 0 0 9,0

30 0f 41

27152019, 9:26 AV
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120.  The bar graph shows the number of major storms, by month, that Major Storms Making Landfall

have made landfall in a region between 1851 and 2005. In which
month did the most major storms make landfall in the region?

—'—_'__.“d__'_'_'__\-‘_\_'_'_._'_‘-""‘—'—'—'_‘—--..._____
- _-—._-—|_|_-_-_‘_._._-_‘_‘_
In which month did the most major storms make landfall in the region?

{)  October
(O September ) July
) June ) Cannot be determined

Answer; August
e I s

121, =
The circle graph is a result of surveying 900, college

students. They were asked where they ive while attending

college. Use this graph to find where most of these college %
students live. AT B Campus housing 320 A
O Other arrangements 17
@ Own off-campus housing 56

W Parent or guardian's home 280

Choose the correct answer below.

(O A. Other arrangements

(O B. Own off-campus housing
() ©. Parent or guardian's home
() b. Off-campus rental

’C_ ¥ E. Campus housing __D_ ,'/ v

Answer: E. Campus housing

122.

Find the square root. 36 =| o =
36

Answer. 6 3 6 =

3l of4] 2/15/2019. 9:26 AN
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123,
Find the length of the third side of the right triangle. . L a -
: C)rrr=E c
2 ! e A S
B " - (’ T
= -
The length of the third side is ] (Ef_ ~ JC ./
Answer: 5 @ e
e 2 toe ———
124. Sketch the right triangle and find the length of the side not given. If necessary, approximate the length to the nearest =
thousandth, (8 1
e C N
leg=24,leg=7 Q=

(8
P ¢ (yta=es
STC~+ 49 = &

What is the length of the side not given?

: {Round to the nearest thousandth as needed.)
G2s= C&
Answer: 25 (/ L
- e B (/62 <3 Vy//
X e 2T - —— e, ; _C S
125. Sketch the right triangle and find the length of the side not given. \ 2 T
leg = 13, hypotenuse = 85 x=13 |J_,__ éz L%t .
The unknown length is : ( ) T L = (K )
(Type an integer or decimal rounded to the nearest thousandth as needed. ) / 6 q —- é 7 2 ( 5

T — . ‘f[{d“‘%é_f_ﬁ_{ —7{1.’ ;’,_/ﬁ ¥

,.—-—cf:‘_lf'ZE'- “Find the ratio of the corresponding
sides of the given similar triangles,

Answer; 84

The ratio of the corresponding sides of the first triangle to the second triangle is ‘:I
(Type the ratio as a simplified fraction.)

Answer: 3
2

320l 4L
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127. A triangle is formed by the building's height _ Z §
and shadow. Another triangle is formed by At v ¢ ,u" P N
the flagpole’s height and shadow. Using the | \\ = (9 ) ks 191%
following diagram, find the height of the \ 2( ‘-'() " 270
. J
building. \\\ X< 20Y _ﬁ
\ A 2 Od (&
3 \\ 40 At \\ ‘(’-X z "
mi) \ A -’z': T

501 2A .,___%
. )( = / g o =
The height of the building is [ l feet.
.

Answer: 1000
———

128. Draw a tree diagram for choosing a vowel, (a, e, i, 0, u) and then a number (1, 2, 3 or 4). Use the diagram to find the
number of possible outcorples.”

=

Oc.

=

T

S

. 3

)"//it
(ST R T N

O D.

Ll

O A. 1
<

[

N AN

=

(]

NZINPZIN

£ (=)

2 €0 -0 S0 -6
.f/\\
(2]
-k B2 —n8

Vi

S_
=
N

-

N

N
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129, :
Draw a tree diagram for spinning Spinndr A 3 times,/ Use

Based on the tree, what is the number of possible
outcomes?

]

htips://xlitemprod.pearsonemg.com/apifv 1 /print/ma

Choose the correct tree diagram below.

A

R
R < B
Y
R

R B B
v
R

Y

I
Answers 5 (——y
R
AN f<§ =
<t /——n
R<5 0
a<a 33‘ K%ﬂ
‘R B.__/.-——ig_____,_v’
“4&? N <8
R<|\; Lf\_____?(
vE-B L0 % 7
5
27 ) A ~y
..... Eeeamaf A
PN
¢
\ 3
A e

34 0f41

(<
B 4:5
\<§
Ré:r‘;
Bé\;’{
v.é:.:

R

<

2/15/2019,9:26 AM
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130. A marble is selected at random from a jar containing 6 red marbles, 4 yellow marbles, and 5 green marbles.

What is the probability that the marbl@ aAl

The probability that the marble is red is .. _{Type an integer or a simplified fraction.) ¥ (‘/
—— =
E B N re CHro—~+ Gre
Answer: 2 o / A~ G ,?2_

S )
s s oty + ¢ /s
_—___—_,_..-‘\_"--._‘ SCRTEE s ___—____ ety
131, Findethe following figure W =7T 20
12ft| Rectangle /Ta(/ s)t+ ¢ (re) r({
= 201ty
— se S
o >
Perimeter=: 1))
(1) O ft
O so.ft
Answers 54
L [
. {
132. Find the perimeter of the following figure. Z ~ ‘/ 7 Y, W = j 7 Cf? 37
2

Z
P aliew X2 ¥
%rallelogra%7 em g2 %7) ~+ 2(37/ 7 v 7Y

FEF 2D ay
Pedmeter=| | (1) VA
(Y O sq.cm

) em

Answers 168

{1)cm

35 of 41 ' 2/15/2019.9:26 AM
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133. Find th@wﬁﬂhe fo]lo%fgure /..' A’f d"f— C (10 l o
= Y=+ 6r J ~+ 6 ,{-@”

fe Lo ¥ 217
- aVay @
The perimeteris| | (1) .

(1) O sq.in.
O in,

Answers 18

134. Find the perimeter of the figure shown to the right.

PAt P+t D+ E 4 "

PlAS54 10 1§ D
@ A 1 120

19 1 /!
F /Y
Perimeter = (1) : {
(1) O sq. k.
O ft
Answers 68

SN . —tf(
135. Find tth tt@;ulay)gon shown to the right. q<:>
/

of Al yd
] 7 7
Perimeter = {1}
,4: 6 S N
(1) O sqyd
O yd

Answers 246
(1) yd

36 0f 4]
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136. A metal strip is being installed around a workbench that is 11 feet long and 4 feet wide. If the stripping costs $5 per foot,
find the total cost of the stripping. é / / W = v
F=2LT2 &
P=2(In+ 2(%)
/o=l r ¥
7= 257

137,

Total cost=$

Answer; 150

Find the perimeter of the top of a square compact case if the length of on% side is 18 inches.

- SQurt L oy
=" T =
The perimeter is [:‘ (1) :’ (3 (7 - w b= §
(1) O inches. L= 1y /: 2L 2
() square inches. ~
(O eubic inches, p (7’

e 91//3’) @@ /T 3¢r3¢
Answers 72

(1) inches. @ @%

_— R o—— N

138. A rectangular room measures 13 feet by 12 feet. Find the cost of installing a strip of wallpaper around the room if the /
wallpaper costs $0.90 per foot.

L= t2uw LT/} /=2 2
Total cost = $]—_] /f %(r}) -t 2("1)/“) X f;}; A V{)
2 —
Answer: 45.00 p : b '_f' i \

by 3.1 inches.

The veolume of the computer is nm

3
J /
(Simplify your answer. Type an integer or a decimal.) \/‘: L W/ ‘J' 3"”
MO V= B)()(31) K 9
) sqin.
) cuin.

Answers 27.9

(A4
V= l7e? e -
{1) cuin.

140. Convert the measurement indicated. /W’ /Z /""du % ‘-/
>
132 in to feet

L .

Answer. 11
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141, Convert the measurement as mdlcate(_ = 3/@ / } \./(,/ ~ / ’}

13 yd to feet 1 ool = K e
13yd= f [ CB{ ) A =

—

Answer: 39 —

e st &

142. Insert <, >, or = in the space between the paired numbers tg make ttie stalemenit trae:
o hi%f

12 117

(1 O
Q
O

Vv A

Answer; (1) <

e

143. Insert <, >, or = in the space between the paired numbe

U—

Answer. >

144. Use the commutative and associalive properties to simplify the expression.

v (679 < -
G+ a~§ ~

Answer: a+ 12

A+ 6F ¢
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145.
Find the x- and y-coordinates of the point C. Ay ‘/

- c L/ B
The coordinates of C are 4 & /

(Type an-ordered pair.) \%( 2_

2 l’l)h-!— J Wp &

¥y~

&
e
.
ro
F-
o

Answer: (2.4)

it St
e

_116 Determine whether each ordered pair is a solution of the given li
2. X~ '57 - (73
| 2()3( =13 __ ";
O Yes W«f//o—r} L/}Véf (_// |

2x+3y=13; (5,1), (2,0, (0,1)

Is (5,1) a solution to the given linear equation?

O No _{/""' |
(Cad 13=13 < |
Is (2,0) a solution to the given linear equation? 1= (Z b ) a— {
! —t (7 4 :
5 N W3 e |
I

O Yes I| 2(1}’__7_ 3/0) — 13

Is (0,1} a solution to the given linear equation? —

(f_"/’ O T3
O Neo / BA ?’ /3 ” .
) Yes | I.I (O ]/
Answers Yes / Z )( T 37 . / E )< 7 7
N 2 ) +301) = 17
O+ 3 =17

(ap3Fs N &
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o _\_\_‘—\—|_'_._'_
i B ST 2 S -~ =
147,
For the equation, find three ordered pair solutions by y
completing the {able. Then use any two of the ordered pairs 10
to graph the equation. 8
1
y = Ex G-
o=
Complete the table below. 2'
X Y 1 X
0 == s T >
6.8 6 4 -2 | 2 4 B B 10
-2 -2
4 -
Use the graphing tool to graph the equation. _E_'
-
Bl
- A XPa ..
- L — e
Answers { e
L/ —2 | d
-1 ‘ﬂ £ g (-7,) ————
2 2l o
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e
o it
148.

Graph the equation. - iy
y=2x+5 163_
Use the graphing tool to graph the line. 12
8

=+

X
| AL LR LR il e e B e e e e e
20 -16 12 B 4 4T BT 12 16T 20

-4
-12
16

204

Answer: Ay P "——__2—— ‘/l(//
20- 7 T 2o+ ,Q_.-_. /
oo 1T
- T A
N =S A
/“7 ~ (=45
20 -16 7 ~{*S o
7 — 7 v

. e T P
148, The function V{x)=x" may be S V - LW/J h_é”—*q
d to find th | { =
cera it te g ot ﬂ a1 A
the volume of a cube whose vem =9
side is 9 centimeters. (/" 3 { (c; )
\ cimn U 72 q‘ 7 3 \\II
The volume is : cubic centimeters. (Type an integer or a decimal. ) K ‘:F
V= x ©
Answer: 729 V‘ — (c/-’ )
V= (5)5)(5)
l/ - Zl / 3 ) "9
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